ooouobboooooobooood

()Ooooooooooooo
05000 «00 —-00010

(2) 0000000000
05000« 00 —00010

(3) 0000000
100000000000
0000000000000
0500000+« 00 —~0000010



UUOUOUOooooo

70250000 13:30 O 15:00
12-50200 opooooOoOmO

e 0000000
000 (7/17)00000000

e OO OOOOODODDOO
e DO DONO
e UL DOOOOOOODODO




Jooooooooooon

e JJIODOONODODOODODODODO
00O ANOO0oooDo
*0ooBNooobDO
O Ooooooooon
>0 0o0oggd ng

e U OOOOLODODOO
*» 0 O0oooBO



goboooogdgooboodg

+o00
F(s):J e”‘xS% orog
0 X

oooooaon

e JOODODO s>0000

ra) =

o ['(s+ ) =sl(s)
(n
(

[
1

+1)=nl!
T

r S) (] _S) sin 718

—00o BIOODOOOO 1—



goboooogdgooboodg

1
B(s, t) = L (1 —x)t% 0B OO

gboooboodgg

e JOUOOO s>0,t>0000

s

e B(s,t) = ZJZ sin”* 1 @ cos* ' 0 dO
0

e B(s,t) = }

—0o0 BIOODOOOO 2—



goooog

gogooooooon

foogogoon goob =000d

— ggbuobogbobodboooboobn

— 0Duggobooboggd
gobobouooooboo

—0o0 BIOODOOOO 3—



goooog
gbomoboobon
gobbooogboo

gobobooogboo
gogobobooggoboboooon

—0o0 BIOODOOOO 4—



goooog
gbomoboobon
gobbooogboo

gobobooogboo
gogobobooggoboboooon

gbooobomooboobon
gboooboob o

—0o0 BIOODOOOO 4—



eX
DDDDDDJ—dXDD
X

e 0O UOOOODODOOOOO
gbooboooooood

e 0O UOOODODDOOO

gbobboooobbboooobbbbooan
goooodg

—0o0 BIOODOOOO 55—



oo

Joogoboooooo
0000000000000000000000

gobboooogn
ggbobobuoogoboboooooboo

goooo
“cbooooooog”
gboboooogn

—0o0 BIOODOOOO 6—



“O00000000”"000000

e OO

e /10O 100
e /200 100
e /10O 200

e JUUUOUOOLDODO

—00 BIOODOODOO



goboboogoboboodg

dx = | —
.dx—a x = log|x — a
1 1
" dx=
=T T )=
1
e | ———dx = arctanx
Jx2+1
2x y
* )y desleba )
[ 1
o | —— dx OO OoOooOonO
(X2+])n

EDDDDDD noogooooooon
—0O0 BIODODDODOO 88—



goooog

000 f(X),g(X) 0000000000000

0oo

000 _000 000

f(X)g(X)  f(X) 9(X)
oooooo

—0o0 BIOODOOOO 9—



Do0ooooQ
0000000 f(X) eRX OO

gobobooogn

f(X) =H(X)™ - fie(X)™
00 ;010000000000 2000

goboboogon

— ggobbbooooboboooon

—00 BIOOOOOO 10—



0oooooo
7x*+6x—5
(x —1)2(x%? +2x +5)
goooooono

f(x) =

a b cx+d
1) f(x) =
(1) £(x) x—1+(x—1)2+x2+2x+5
000000 a,b,c,d0000

(2 00000ooooooOooooog
Jf(x)dXDDDD

—0o BIOOOOOO 11—



x O Vax+b OOOOO

gooooogooogo
y=+vax+b
gooooogoogo

—y ugoooooggd

—0o0 BIOOOOOO 12—



x O vVax2+bx+cOOO0QQd

O00y=vax*+bx+c 00000000

Yy =ax’ +bx+c
gooooooboboboooo

— 0oogo1ooobobobooobo0ooobogoon

— 0Doggooood

—0o0 BIOOOOOO 13—



x O vVax2+bx+cOOO0QQd

y?=axt +bx+c

—0o BIOOOOOO 14—



DDJ\/1+x2dx

O00000O0t=x+v1+x000000
gbobboooobbobuoooobbobuooon
000 y=Vv1+x* 00000

000 y*=1+x* 000000000

—00 BIOOOOOO 15—



DDJ\/1+x2dx —y=V1+x> 000

oood
oooo
x+y=20
O+“000”0
“OoopProonD
“OpProOO
OoOo0ooO
x+y=t

—0o0 BIOOOOOO 16—



0000 sinB,cos0 OOOO

DDDDDDthtan%DDDDDD

O0OoooOoooo
X = cos 0, y =sin0

000000 x¥*+y*=100000

— Dugggbobbuoooobbboooon

—0o0 BIOOOOOO 17—



0000 sinB,cos0 OOOO

y=t(x+1)
(cos 8,sin 0)

—00 BIOOOOOO 18—



gobboogn

gobboboooobobobogo

e JUUOUOOU

e OO UOUOODLODDOOOOODLDODO

e HUDOOUOOXx =400 00000

gboboobooogn

—0o0 BIOOOOOO 19—



goon
gobbooggobobooaobo

e 0D UOOODODO

e D UOOODLODDOOUOOOODDOOO

e 0O UOUOODLODLODOOOODLDODO

gboobogg

—00 BIOOOOOO 20—



ooy

—0o0 BIOOOOOO 21—



